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SECTION -1/ @Ug -1
CHILD DEVELOPMENT AND PEDAGOGY
et faenra oo frgmemes
There are 30 questions in all in this Section.

All questions are compulsory.

WA T FA 30WFE | O
it WA oAframd € ()

1.  Right to Education Act, 2009 states that a teacher erfogn which of the following
duties ?
{A) Maintain regularity and punctuality in afte ool

(B) Conduct & complete the curriculum

[C) Complete entire curriculum in ﬂ@ e

me
(D) All of these.
foran = srfusr rfufvam, 2009 F = f= o R fam <o 11 @ e g 2
(&) T o fafme w9 9 BB
(B) UISAFH H1 HEOH Gl
(C) o urSusHA W QU FT B
(D) 99 ||+

mp Framework, 2005 suggests some activities to promote peace
e of the following is enlisted in the curriculum framework ?

2. National Cur
education.

e programmes to promote an attitude of respect and responsibility
women

ch moral education
) each peace education as a separate subject

(D) Integrate peace education in the curriculum.

TP weaHe ®@l, 2005 ¥ Wi fian 1 wgan 3 & O oo fewel #F swimr e W ®
e TR A A W | e g s g 2

(a) wfgens? F wit orew v foaet #1 gfo fawfon w07 & fog srdww smafsm f62 9
B) g fasn N gegrn A

() i fen + u& 3o fow & €9 ° dgrn 9

(D) i foen &1 wewsRy H wimfeq fH 9@ |
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3.  National Curriculum Framework, 2005 talks of major shifts from
{A) knowledge as given and fixed as it evolves and is created
(B) educational focus to disciplinary focus
{C) learner centric to teacher centric

(D) none of these.

TYTE wreToal &) ®9@I, 2005 F aweid w5 T €

@A) T wmE ¥ g g o ® ¥ e e @ w ok st | 2
B) Wi Fx A o Fx R W

(C) faensft Hf=a & areATas Sz 1 2R & ¢

(D) = A #%E T

4.  The objective of action research is to

{A]  gain new knowiedge

(B) develop the science of behavj ucational situations

(C) modify the educational school and classroom

(D) all of these.

TsramHs aTEm =
(A) TER IE
fagm =1 fowm
® .
F Hfere 1 yomelt § guR @0
5 al Curriculum Framework, 2005 under the heading ‘Examination Reforms

(A pen book exams

(B) Continuous and comprehensive evaluation

(C) Group work evaluation

(D) Al of these.

T Te=E] ®R@, 2005 % o W gl A A i o e qur R e g 2
() el TEe W B) Hd / PR e = e

() wrfes F T O AW
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6. Which of the following will serve as a most satisfying defence mechanism for the
physically handicapped individual ?

{A) ldentification (B) Rationalization
(C] Fantasy (D) None of these.
Wﬁﬁwmﬁwﬁsﬁmﬁmﬁ@ﬁﬂ—ﬁgﬁﬂ&nﬂﬂﬁwﬁﬁm ?
(A)  TIRIHTHRT B
(C) rfasheT (D} 'sFIfl T T |
7. Children's Apperception Test was designed for children betwee s 3 and 10. The
CAT cards substitute
(A)  non-living objects for living objects  (B) for ]%:ople
(C) females for males (D) children for adults.
AAF TETEY THe0 394 F 10 T H G F ‘ T T} 139 Wy o w18 o
yfoeenfyq fld ™ ¥
(A) it FRgaN & v W e awge] T % T W AU FL
(€1 Y& % [ W Afgensdi & )  F9%F % WM R AEH H
8. In order to nurture creativity, a r should take help of which of the following
methods ?
(A} Brainstorming (B) Lecture method
{C) Audio-visual «@ (D) All of these.
GeRiTerdl & oy & 1egrges & T | 9 TR fafy s weEa oA =ty ?

NIE-C| ' (B) =& fafy
(o] (D) T aad

rive is a psychological consequence of a need
(C) Need and drive are parallel but not identical
(D) Instincts are innate biological force.

AT F-TmFA wE T & ?

(&)  STEvImal S=A1 & I erawen T §

(B) 3TAlg TavHhal T HASHATH qHom §

(C) 3awEH TH AR 99 e §, afesw FEE §
(D) gewgfer smafe S aa §

THRII | PTO.



L-2
10,

11.

12.

13.

6 [D]
Right to Education Act, 2009 specifies the minimum number of working hours per
week for the teacher as

{a) forty hours (B) forty-five hours

(C) fifty hours (D) fifty-five hours,

foren =1 sAfupR srfufam, 2009 § T seamge & faw ~gHaw i s wfa qare fulfa ey ™ #
(A)  Ig He B  Haweiy we

(C) EE e (D) O R |

Which statement is not true about interest ? O

(A) Interests are innate and acquired ()

(B) Interests change with time
(C) Interests are not related to capacities and aptitv&l L 4
(D) Interests are not reflection of attraction and gversion
fFaddsh-mamfaFm i am &g ?
(a) el S eik st S et &
(B) =@l 99% ¥ 3TH{ER wEord! Tt &
() Ffagl dramsil wd stfsmaet 9
(D) wfedl AR ¥ THY &
The attitude is
{A) an emotionalized tende
negatively towardsé
(B) a characteristi

behaviour.

T E

organised through experience to react positively or
gical object

ptomatic to the individual's ability to acquire with

some specifie ., some knowledge or skill in a given field

a potential abilitfyof an individual of a specialized kind .

2

Tgfa it Y & gR d@fea g fedl mRRTiE I % wfa wdem @

&9 H yfdfsman it §
Ut forivan st sAfw w1 A W afares # N9 e yew 4w o fafue wiee, 9=
g1 HIVH W drEr o gFa ¥
() =afE Ft oy w1 o fafe ver &1 g §
D) T 4§+ T |
In personality as well as intelligence heredity plays
{A)  anominal role (B) a great role
(C)  unpredictable role (D)  fascinating role.
A T qfg F AgET H
(A) AT @ i # (B) wEwEyl Jfaw ®
) AEHEE it # D) omwdE yfawr
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14.

15,

16.

17.

18.

7 L-2
Which of the following is the storehouse of our unfulfilled desires ?
@A Id (B) Ego
{C) Superego (D) Id & Ego.
fom g=o1afl &1 gfd =1 &iel), =71 woew e e H A FR-wm # 2
@ T (B) ¥18q
(C} = A (D) 3TH TH 31’ |

Defence mechanism helps us a lot in dealing with
{A) violence (B) stress O
(C) fatigue (D)  strangers. Q

871 99 9gd GEEW S §

@ few @ Froed ® bz &

(C) uFH Wyt (D] [ 9 frged o

The personal factor(s) which affect learning j§ /

(A) Mass media er group

(C} Teachers Maturation and age.

AR F TG FA el AT 2

() TER & |ud (B) UHIaEh R

(C) e a (D)  aftgeE TE g |

A cricket player develop, bowling, but it does not affect his skill of batting.

It is known as

{A)  positive tran ining (B) negative transfer of training
(C)  zero transfer of Taining (D) none of these.
T fdhe 3 Hearsit & HIVA F fTHhiea F oA 2, W I8 39 Feiars] & e &l

wurfoa &l H
8797 3T B fTaurHs wfwero oo
(D) ¥ A FE A |
the following statements best shows the mental health of a person ?
ull expression, harmonization & goal direction
(B} Lack of mental disorders
(C} Free of personality disorders
(D) Al of these.
= 8 9 S0 FuA fadt sfe & aefes @eE # 399 9§ eifd a2
&) ot Afveafe, Fnfae ok 9 deg # SR fdee
(B) 9EfaF fawrl &1 7
) =fea & fawm 8 9fw
(D) 37H | g+t |

TR | PT.0.
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19. Though number of psychologists like Freud, Plaget explain personality development in
terms of stages but only Piaget talked of

{A)  developmental stages which are determined by the environment
(B) restricted effects of stages to early infant experience only

(C) cognitive transformation to explain stages

(D) none of these.
mm@muﬁmﬁﬁﬁaﬁmﬁmﬁﬁfwmm%wf EAR R e
o A

(a) &% fF faemm &1 st ammere ¥ fuffe o §

B) el o Vivraremen & Iqya € arfies wonfaa W €, #\ﬁawm@ﬁ%
() fafm sl #) wH ¥ fou GamTeE Tee Sl
D) T d PR T |
20. Guilford has given the term ‘convergent thi y ivalent to
{A) Intelligence eativity
(C) Intelligence and creativity none of these.
frererg A ' wfedt fae ' W= &1 W FEAfFa ¥ ?
W  Hf$ (B)  YoHHSRM
(€ Ife T FerHewD D) T Y HE T
21. Ability of knowing t i of problem, weaknesses and gaps related to
environment is a ch f
[A) Gifted childr (B) Average children

(D) Nore of them.

22. girl developed the habit of dropping the coat on the floor. Mother asked the

keeps coat on, approaches closet, hang up the coat on the peg. It is an example of
{A)  Chain learning (B) Stimulus Response learning
(C) Concept learning (D)  all of these.

T FeIS S el ASH! A Y W w2 HFA 1 AR I o ¥ 1 ASH K1 A A IHS $a1 fF
FA W 9e el R R B G W M | ASH A AR R FH JAN A T, P FTY W
T@ WX AR T TWE M H B H Gl W e } | 78 IEw ¥

(&) HEEr™ AW & B SEA-gfwa A =
(C) wIF RiWTH = (D) 3 ¥ 94t |

LR 501
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23. Extrinsic motivation may include

I. Praise & Blame

II. Rivalry

II1. Rewards & Punishment

IV. Knowledge of results.

Of these :

(A) IandlI (B) I II and lII

(C) Only II (D)  all of these.

e Ffvten d waEfym fea S O
1. weE @ e ()
1. wfagfga &
III. YR TE g0 &
Iv. qftomy &1 94 |

TH

@A) & , 13RI

(C) Faa Il T 9 9t |

24. A process in which an individualfle ew responses by observing the behaviour of
another rather than through xpefience is known as

(A) Social learning (B) Conditioning

(C} Experimental le (D)  Incidental learning.
o wiwan & =afe Tl @ W HEm T A vy omyE ¥, ® Fe W ¥
B) FHA

(D) Ak SAfTH |
25. |
(B) restless, energetic and destructive
(D) lack of motivation.

(B) R, Suiar & fawEws g
(D)  HPETom w1 WA |
26. Which of the following statements is not true about development ?

(A)  Development is the product of interaction

(B) Development follows an orderly sequence

(C) Development is individualized process

(D) Development proceeds from specific to general.

A @S- e e F M A g T € 2
@A) foem s=:fea & % € B) fawmm s =afem s@en 1 S €
) =g = e ufwar § ] faere fafem @ wmr= # SR e

LT | PTO.
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27.

28.

29,

30.

10 (5]
Children's thinking is grounded in concrete experiences and concepts rather than
abstractions. It is the stage from

(A) 7 to 12 years (B) 12 to adulthood

(C} 2 to 7 years (D}  birth to 2 years.
STeThi @l Are ST T 3TAEN g A T Wl | @t ¥ 1 e ormeen ¥
A 791294 9% (B) 129 T 7%

© 29 7wTw (D) V9294
Human development is the product of joint contributiongof bo

(A)  parents and teachers (B) ical #nd cultural factors
(C) heredity and environment (D) of these.
Ta fasm fa A & dreE &1 aftom }2
(A)  AfquTEeh T JEYH FI ) TS Fiemfdsh FEH &
(C) S T A H: D) ¥ §F T |
Which of the following is not e f{6ur determinants of intellectual growth stated
by Piaget ?
(A) Social transmissio (B}) Experience
(C) Equilibration (D} None of these.
frAdd s o & fawe %1 fufte @ 78 82
' . (B IvE
D) T A HE T

sion in the classroom involving maximum number of students
onstration by teacher involving students

(C) Cooperative learning and peer tutoring

(D)  Ability grouping for teaching.

fordy STl AT =i B TEE ¥ for refaten § @ #H- W S s ST € 2
&) aifusman a=i & afmfad S g a1 3 99 w0

(B) faenfday =t witafem @ g s g fAdem

) Wewrl afenmg qen der it ( wewiedl gra sfer )

(D) e & foe draa snafa ggie |

T



31.

32.

33.

34.

35.

36.

37.

(©) FE A AW
‘e eTe gETe & o1 ¥ Qé
(A I B FTHMA

11
s - II

T - I

et

WaE H Fd 30T § |

T W A IS F A I § ()

(a) w&dl T H w1y 9

(C) =TE g @2 gl # Sy g

"ITqAT Ty Y %y 9 ¥

(@) TAEE w (B) ST Ty G Tl &
(C) 319 TY | Hm m% (D) W A G TH FEA |
T 9§ % fe sugew €
B) T A F
(D) 9] Y AR |9y o

(B) R 94

(D) 3 ¥ B T
iy w18 i |
(&) ared yehe B € B) @&y e T ¥
(C) = yahe T (D) fafex sdude o &
" reraTae |’ & g e §
() ug-ueht snfy (B) -3 g
© femd anfe (D} eyl anife |

LTI
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38. ‘W& Al YaeA TBT H Wert e’ H fawm

(A)  FTET (B)  9a<A
(C) T&A (D) @WoH |

39. ‘T ATAF oo, FE T/ o1’ A ¥ i e W wgE am
A =@ B) 3T ®
© e (D) 3PYE | ()O

40. 'TY %o fHem 9% WO & e’ 39 9 § 9w %

(A) T ETEYE T
C) TEEIE T % Y& g |

41, %4 g =@w T ¥ 2
. g
) @
42. fFTe = A 'H' wqﬁ%@@

43.

F
(D) fa=

B) Wdd €Y | IFNG @Sl
(D) =9 & 9g W 3 areft eafal |

44,
(B ¥Ry
(D) ThhyEd |
45. ‘gereamEn’ & w@iu-fawe g
(A) g+ B B) I + =A@
(C) T& + B (D) & + B!

NWEARTTHI
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46. ‘ffaer g’ 1 3k99 g @

(A I AR wErn (B) @A i Frerdt
(€) Fmio 1@ FEm (D) ¥ 9 &N "

47. Tod Fafaa g0 TF |y oHE Wafaal Y 9 S S weed 98, 9 @ Head §
(A 9w (B)
€  afug= (D) O
AT : W9 GE&A (48 - 50 ) % fow A Ty ) v @ v T I o I E

FHT T T GEY WAEF B & | T8 Fae Hifa F1'¢ 79 7@l w, whew 3

F1 ot & ot ¥ | foRel gan qew &t dafa afz i € A R § et 9T F gEE Bl
St 38 -1 erEAfa & g | f s s T TR A aelt @g & U g,

St 39 R 3Afa it SR IS S
48, T9 TEW w1 WS g Q

(A)  FETFHT HE 6%(]3) =t Hfq

© wd (D) g1 o9 |
49. 'HHn w1 54 ¥ @

A Fy FiE Q B) e & e

(© ww o (D) & dla .
50. 39 AN & a #

A (B) I e

3R wggha (D) =AM |

51. ‘®' R ‘'F o' o s o € 2

&) FHEA HE (B) W FF

(C} SR HNEF (D) T FEH |
52. 'wivy’ ok ‘fadw’ fhedk o § 2

& A | =

€ ¥ D) e |

IR [ PT.O.
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53. ‘Ugert A TEH A A uig I 0’ — 3Q 9 | Rd

(A TR
(C) 3R

54. ; form fag =19 m &
() g form

(C) =19 faum

9 | O
55. mamwﬁmm%mmmmmm&?

@A) foatu fas

56. ‘wNY' W= F1 aRd €9 §O

7.

58.

59.

(C) wAfES
60. 'fowe 79 9 wF gEd W 91 % fow ww v= W

(B)

@ A

(C) #HA=1

A
e <

(B)

(D)

(B)

(D)

(B)

(B)

(D)

(B)

D)

(D)

(U T

et

qr= |

o™

Ya&d |

T

FAGHAER |

¢



L"i] 15 L-2

SECTION - 11
LANGUAGE 1
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

31. The opposite of the word ‘support’ is

{A)  help (B)  argue O

{C) oppose D) return.

32. Which word is opposite in meaning to ‘interesting’ ? TN
(A) confusing (B)
(C}  contrasting (D sifg.

33. Choose the word with the correct spellin

{A) fenancial financiel
{C) finencial financial.
34. Pick out the word which has ctly spelt :

(A) situetion (B) setuation
(C) situation (D) situasion.

35. Which one of the following phrasal verbs means ‘'to stop doing an activity or a job’ ?

(&) take up ¢ (B  run down
(C1 giveu (D)  look for.
36. Whic e options will complete the phrasal verb in the following sentence ?
ILhadtodfill ........ccoeeivviiniiinis three forms to get my driving licence.
{A) up (B) into
() down (D) over.

37. The passive voice of ‘We make butter from milk’ is
(A)  Butter is being made from milk
(B) Butter has been made from milk
(C) Butter was made from milk

(D) Butter is made from milk.

LT | PT.0.
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38.

39.

40.

41,

42,

43.

44,

16

Which is the correct passive voice of the following sentence ?

They have painted the door.

(A)  The door was painted (B) The door has been painted
(C) The door is painted (D) The door be painted.

My sister said, “I am enjoying my work.”

In Reported Speech the above sentence will be
My sister said that O

(A)  she was enjoying her work

(B) I was enjoying my work & ¢
{C) she was enjoying my work @
(D) I have been enjoying my work. @

Which one of the following words is a @
(A)  Sympathy Sympathise

(B)
(C) Sympathetic (D) Sympathiser.
Fill in an appropriate det iner :
.............................. %\ today's programme is a song.
(A} The @ {B) A
(C) Any . (D} Some. -

orm of the verb in the following sentence :

.................. a new dress last week.

(B) has been buying

(D)  bought.

Which one of the following sentences has the correct verb form ?

(A) They already seen the film (B)  They already saw the film

(C) They will already see the film (D)  They have already seen the film.
May I enter your office ?

In the above sentence ‘'may’ has the meaning of

(A) permission {B) possibility

(C)  probability (D) order.

(T
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Note : Please read the following stanza to answer Question Nos. 45 and 46 :

“The Jamuna's waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O 1 If the storm breaks, what will betide me ?
Safe from the lightning where shall I hide me ?
Unless Thou succour my foolsteps and guide me.
Ram re Ram ! I shall die.”

45, “Like black birds” in

the above lines in as example of < O

(Al metaphor (B)
(C)  hyperbole (D) ¢
46. We can find an example of alliteration in the ab
Aa) Ram re Ram die
(C) The Jamuna's waters e shadows of evening.

47. Anelegyis a

(A) sad poem, usually about somm€ong

(B} love poem

(C) prayer

(D) poem about someofl

48. The phonetic symbo

W /1
€ /ch/
Direction for,

following w

49. Pick
(A)
(
50. Try
@ /trl/
C  /tri:/

51. Rahul said to Veena,

t sound { underlined ) in the word 'ship’ is
(B) / sh/
. o/t
n Nos. 49-50 : Pick out the correct phonetic transcription of the

B /pi:k/
(D}  / plkk /.

B) Jtral/
(D) [trae/.

“Please return my books early.”

In Reported Speech the above sentence will be

Rahul requested Veena to
(A)  return her books early (B) return my books early
(C) return his books early (D) return their books early.

[ P.T.O.
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52. Which one of the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.
(A)  India has many beautiful buildings
(B) The Taj Mahal is more beautiful than any other building in India
{C) India has only one beautiful building, the Tal Mahal
(D) The Taj Mahal is a beautiful building.

53. Pick out the correct '‘wh’ question :

(A How much money do you want ? (B) How much do t money ?

(C) How much do you money want ? (D) How mueh m ou want ?
54. Which one of the following words is similar in meanin &ch&se‘ ?

(A) Buy (B)

(C) Receive (D) 4 Supply

55. The word ‘inspection’ is similar in meaning to

(&) interview ercise
(C) getup » check up.

56. To express ‘necessity’ we use th
(A) may (B) must
(C) can (D)  might.

57. Complete the phrasal v ollowing sentence :
I usually go to bed e Oget o early.
(A) out (B) off
(C)  up ¢ (D) into
58. Which one ollowing options will compiete the phrasal verb in the following

sentence ¢

The train Slewed ..................c.0l and finally stopped.

(A) (B) over

(€ (D)  down.
59. Pick out the phrasal verb which means ‘'to take care of" :

(A) run after (B) look after

{C) runinto (D)  look for.
60. Complete the phrasal verb in the following sentence :

The tourist guide pointed ..........ocooviiinianns the most important buildings.

(A) in (B) out

(C) off {D) on.
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SECTION - III
LANGUAGE 11
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

61. The opposite of the word ‘familiar’ is

(A) related to a family personal O
s O
*

(B)
(C) strange (D) unfrie

62. The word ‘creative’ is opposite in meaning to

(A) destructive (B) ositive
(C) artistic % istic.
t

63. Pick out the word which has been corr

(A) obidient ( obediant
(C] obedient D) obidiant.
64. Which one of the following w ag been correctly spelt ?
(A)  gramar (B) grammar
(C) grammer (D) gramer,

65. We decided to put off'ur visit to Kashmir till October.

‘Put off in the e $ntence means
(B)  plan
(D) postpone.
66. 't enough money, so we must cut down expenses.
‘Cut down’' in the above sentence means
(A) reduce in size or amount (B) stop
(C} increase in size or amount (D) revise,
67. They are repairing the bridge.
The passive voice of the above sentence will be

(A)  The bridge is repaired (B) The bridge are being repaired
(C) The bridge is being repaired (D) The bridge has being repaired.

DL [ PT.O.
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68.

69.

70.

71.

72.

73.

74.
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Pick out the correct passive voice of the following sentence :
They carried the injured player off the field.
(A}  Off the fleld was carried by the injured player
(B) The injured player was carried off the field by them
(C) The injured player be carried off the field
(D) The injured player has been carried off the fleld.

He said, “Kavita, when is the next train ?” O
The ahove sentence in Reported Speech will be Q
(A) He asked Kavita that when the next train was & .
(B) He asked to Kavita when was the next train
(C) He asked to Kavita that when is the next %
(D} He asked Kavita when the next train \@
Which one of the following words is a
(A) interesting
C) teacher
Fill in the appropriate dete t\@
[ have not got ............... %ey in my bank account.
{A) any (B) a

(D)

)
D) brave.

few.

Supply the co orfh of the verb ‘remember’ in the following sentence :

| EUTTUTUPTORE. ur name

{A) bering (B) remember

(03} remembering (D) have remember.
Pic t the correct verb form :

She was walking along the road when she ........................ him.
{A) met (B) have met

({C) was meeting D) meet.

Supply a modal which expresses ability :

All of them ........ccevvvinnes speak three languages.
(A)  may B) wil
Q) must (D} can.

LI
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Note : Read the following stanza and answer Question Nos. 75 and 76 :

45

“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,

Harp of my country, let me strike the strain !”

75. The line ‘Like ruined monument on desert plain’ is an example of

(A) simile
(C) elegy

76. Which one of the following phrases gives us an exafnple o

(A)  harp of my country

(C)  with her fatal chain
77. A sonnet usually contains

(A)  eight lines

(C) twelve lines

Direction for Question No
following words :

78. Like
(A) /lalk/
. L 2
(C) /laizk/

79. Tree

80. These
@A) /dls/
(G /olz/

(B)
(D)

(B)

)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

metaphor
hypefbole
desolate art thou.

six lines

fourteen lines.

J11k/
Jlu:lk/

/ire/
/irel/

/ei:z/
foiiz/.

81. The doctor said to me, “Do not swim in cold water.”

In Reported Speech the above sentence will be

The doctor advised me
(A) do not swim in cold water

(C) not to swim in cold water

LT

(B)
(D)

that do not swim in cold water

to not swim in cold water.

iteration ?

L-2

ick out the correct phonetic transcription of the

[ P.T.O.



L-2
82.

83.

84,

85.

86.

87.

88.

89,
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46
Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle.
(A) My uncle is the wisest person in my village.
(B) There is no wise person in my village.
(C) My uncle is the only wise person in my village.

(D) My uncle is wiser than some people in my village.
Pick out the appropriate question tag ior the following statement :
You didn't see him.

&) didn't you ? (B}  did you ? 0
(C) isn'tit? (D) aren'tgou ?

The word ‘advocate’ is similar in meaning to ¢

(A) adviser (B) ar

(C) supporter (D)

Which one of the following words is similar
(A)  brief
(C)  precious

We must come back by six.
‘Must’ in the above sentence ¢
(A)  possibility 6 [B) advice

expensive.

(C) desire necessity.

Complete the phras following sentence :

You may try hard th, but one day the truth will come ............ .
(A) in over :

(€} out (D) at.

asal verb in the following sentence :

Peopl en complaining about the prices going .................. everyday.

(A) (B) through

(C (D) in.

Complete the phrasal verb in the following sentence :

Many parents were at the rallway station to see .................. their children.
A away B at

(C) off (D}  after.

Which one of the following phrasal verbs means ‘to remove’ ?

(A put on {B) take off

{C) putup (D) get off.

L
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AT 201
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69.

70.

71.

72.

73.

64 [D]
“Hopall 20102 Ad olduler &7 [Atuctiiell 2f diRdl asia ?
(A) o & Hop2]l HRUMLS B (B)  slg et upuldis otell

(@ Beeus Hop2al 2urfdls 8 (D) Sl dopad 2tupuldrs otell.
g8 Vidl HveL gz < 2icit & dal 2dcit slell g8 8 7

{A) L end slgl (B)  Alvu x4 Gud

(C) &8l vd wis (D)  vieel AHd usen
oldeuniall sl elwe el ud & 7

(a) o (B) ea ()
(C) susl (D)  «a@gse. ¢

olAal ulF2e aizllad 71 2fl 75 uellall cYalor ML

HeIe] Wast s 2izsilell eiRg sla 8. el gheival [Bausl aua 8. dell [Baue Hisat
cl2fled dl d o ud. e wHIeET HisL ol Beunl cded dl Seclld Aawdfl umel.
v, lq4, olad, Giad, wad, sedl L QURid d3¢ dPaell 2diweli 2IALGH, HldZAUMLGL
Auig:v, AN Ballcll Mol UsIR ML ol. Mot w2 A wiell [(Bauanlon 22512 usal 53 &,
ANell waa dled g dal slg aic o 2Ned 2d2sieiaa Ad) euva § s3.

22S12 2AlR1-a1221l A &. of pi2tetl’ ol w2 AR AAC sla 8. Baunle dl 24201 ¥ 284
a2fl. wdl uze] cviar @f dq sen clauele] a8 ma 8, ydvaia sl dl 8s s
ej2ud oidcn el & ; A8l & ydevon 6dl 3 o1él dodl uer 2ist ag ad B. il VoMo
ottetyll AIE #idq otefl, Wl ydevordll cud of st s2dl ? ydevonoll aid 28a1 el el s vouall
o [Rne sdled. audel i N Bauil e2nonti 22 8 decll o ag & 2GA otell, s Bzl Mma
HAS sl adi 2

(A) toll [Haust (B) 2I&Hall

ten g2 adl azivey Buwzilel (D)  <voMoll 24HAsll.

wael Aed ‘ej,' ?

(A)  d26 d2Gali 2din (B) 2iesR-2AaA

(C) [Rfaa (Fauz (D)  Hiot-AUMIL.

wél uze cuuel ejil «ivej sla 2Aal elee walol eu e sal & ?

(A)  cunuersll Buaml ol evar we (B)  Yauolloll (auanl ogell van w2

(C)  ARtei22AL 22812 Hi (D) yolivos HI2,

LR
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77.

78.

79.

80.

81.
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ydovadal oled el euell (G212 s2dl ASA ?
(A} 2ies12ell (B) i aoall
(C)  adL vouall (D) 2R ¥oall,
HIeLRicll del U2 S8 olloidell 2212 2u 8§ ?
(A) 2R« 2ist2lell (B)  ydevoudl

(C)  A9Ax adl Beauzilddt (D) @i veusl, O
ool geetldl BAsRS Ad arusl 208 29 saiddl (AR Adlqa of @ .

(A)  [duRledR (B) ﬁl& *
(C) addid (D) @
alAell UEHA e 77 ol 80 sHise usloll q’@

“ol2l vue, sAavfl vl ASlenl 2Hlzswi,

18l 8d 2ylcus «itii Gseai 2 381

ollffist 211 [CRUR] s2u1 53 8 ?
(A) =il (B) vdzHi
() el et (D) (i,

aB15101l Hati 2loll 82

(A} opdasicel id0elsll (B)  atldradl o

(D) Yo 2AH2AsIL.

“eHayeide’’ oflotd M2 Sl 208 quziRdl 8 ?

(B) €lsi
(C) elaus (D) Gsc.
sRist s2Ai Al Qarki viiad wma 8 ?
(A)  alzsmi (B)  zouAlui
(C)  vieami (D) Slaswii.
ofldetniel s2f wiell a0 ul 8 7
(A) awm B) R
(C)  sua (D) Ao.

LT | |P.TO.
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82, HEj : el dl v :?

(A)  del (B) &l

) g (D) .

83. wifid YBid s2di ol ay Hlel 8. YBid <122l Sdi oL a otiell B, d2s1el 25d s2di NS ad eisil
8 ubl o221 Sdi AR ad Hlel B dl 2Adlefl W¢ slet ?

(A)  ellsd (B) afia
(C) etzel (D)  d25lal.

84. sl2lusui As @lSaq oldiadi AHA 562, AL HIeLRL ‘ilﬂ&'ﬂ@l Rictietl Aol 25 Yot
*

8.7 dl 2 Wl el 2f 200 au2t ?
(A) ol (B) it
(C) wu ( L
85. ol silzsial vandl, uaudld oudl, cudld sa %&&qm, dl sieret el uz 24d ?
(A)  Hl2sl Qﬁ yeaudl
(C) oudl 6@ D)  wuegq.

86. sl ua ulsad ¢f 5& &
(B)  els ui(sa

(A)  wwalsd
(C)  ga i Q~ (D) €2 ulsu.
A

87. ‘‘2ads ugla daum, totdl o si g 27 ilsadi Aedloll 56 QU veua & ?
(A) L 4 (B) AHieiel
(€)@ (D) urasl.

88. ‘‘oue el dell 21floudai otefl.”’ (Geuepii cuaalas el Sect & ?
(A) (B) d
(C) (D) awR.
89. audeal devisell g5Hi AR avidiell Baud o 5& © ?
(a)  2ellan (B)  iandlszel
(C) (A=dwe (D)  Ri=dwert.
90. “‘2qull 2iolui 263 WA Wadsl’’ ulsaell anel of eua ?
() ull 2mami Ag S1Y uee 52 (B)  2puicil 3tz wasifdsi2i uz &

(C) 2iofoll 2usign 6la dl Agell (Ast ar (D) g:udi S16 20l 284 otell.



D] 67 L-2

SECTION - IV / @Us - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

TH TS | T IqEUS AU IV(a) Tfota aur fagm wd v(b) amtae sremaa ® | SN 3YEvel % Yo
T 60 dgfasheda 797 § |

el 1 Tv(a) wifoTa aen fage ergar 1vib) Arafser avegEs, fSae = =d = H faar
2 U 9 frdh = 3TEve # g € @ 9t 60 WEA w1 IW A

SECTION - IV (a) / @&US - IV (a) g O’
MATHEMATICS AND SCIENCE /

There are 60 questions in all in this section. The candid
must answer all the questions.

W@ § $d 60 WA ¥ | o snafelal A 3w fawm &

o have selected this subject

it wg7 e AfEr §

umbers a and b are equal then

a+b=+ab
) a=>b.

91. If the arithmetic mean and geometric
(A) a+ b=ab
© ~a+b = ab
Tfe foa=l <t =msd aqen b TUIRR A TR €, o
(A)] a+b=ab (B} a+b=+ab

¢ ~a+b = ab (D) a=bhb.
92. What will be the cqn erest of Rs. 48,000, at the rate of 10% for a period of
terest is calculated on the basis of six months ?

(A) Rs. 6,56 . (B) Rs. 7,566
(C) . 8, (D) Rs. 7,577.
48,000% WA, 1L F wglg = 7 A, 3 A B R B qEN & fewma
4

(B  7.566 To

(D) 7,577%0 |

93. A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it
by 10%. He then sells it by giving a discount of 10% to the customer. The price at
which he sold the article is
A} Rs. 100 (B) Rs. 101
(@] Rs. 99 (D) None of these.
T THTER Tl T %1 qod, T arwfas qed 100 To ®, 10% gE 3ifthd &1 & | 9%
39 I8 W 10% FHHYA TH WeF 6 9@ §, o ST 9% 9% fhad Fo H o ?

() 10070 (B} 101 %o
C© 99%o (D) T € = T |

LT [ PT.O.



L-2
94.

95.

96.

68 [D]
Which of the following statements is incorrect ?
(A)  If the four quantities a, b, ¢, d are proportional then axd=bx c.
(B) If a, b, ¢, d are proportional then ac = bd
(C) The inverse proportion of proportion a: bis b: a
(D) If three quantities a, b, ¢ are in geometric progression, then b? = ac.
=1 § 9§ w9-9 e e § 2
A AR a b, o, dFHETA E, W axd=bxc

(B) afg a, b, c, dTATYRA ¥, W ac = bd O

[C) ¥ U a:b® THFATIAE b: a

(D) afz UMl @, b, ¢ TOR SOt & §, @ b2 = ac. .

The number of members of an institution is 250041f the mber of members in first
year increases by 10% and in the second year edSes by 10%, then after two years
what is the increase or decrease in the num 0 ers ?

(A) Neither decrease nor increase Inétease of 25 members

one of these,
Teol a8 H 10% sedt € a9 g 99 ® 10%
g = =t Thdt 2

(C} Decrease of 25 members
fordt deen A we=l +1 W= 2500 % |
2 o &, 9 T & 9 9SHll DS

a) A gfg T F (B) 25%sHE %I gfg
(€ 259EHE w1 HHl (D) 39 ¥ HE TE
Alternate angles in re, where two parallel lines are cut by a transversal,
are
1/2
¢ 3/ 4
ik
7/ 8
(A) 8land (2, 7) B (1L 2)and(7 8)
(€ ,6)and (1, 5) (D) (1,5)and (7, 3).

& gu foq A <) guim vast & Fed Tt fd® vE & Wy 99 g TR i E

1/2

3/ 4

5/ 6

7/8
A (1,8)dw(2,7) B (1,2)d9w (7, 8)
C) (2,6} du(1,5) (D) (1.,5)a®w (7, 3).

E
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97. In the following figure, the value of angle ¢ is ( here O is the centre of the circle )

A 60°

) 30° D)  40°. .
fAgufmdisavom oAt (W OTWHFFRE )

@A 60°
C 30°
98. Which of the followi nts is incorrect ?
(A) tended by a chord of a circle at the centre is equal to the angle

&chord at any point of the circumference of a circle.

(D) e perpendicular drawn from the centre of a circle on a chord, bisects the

chord.
A FH-g e 3w ?

@) e g ¥ o S g F W A T S 39 e g iy & fee s i
T T FIO F qO S g

B) frdl g9 9 &= | TR g8 W oo sHanstl 1 T s g €
[ fwet gu o ww Shan g0 wikfy & oter- oo fagatl W a9 T 1o SR g §
(D) fFd ga o = q & a1 W S/ T T A9 F qRiganfed sar §

L [ PTO.
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99.

100.

101.

70 D]

Given UZ = 5 cm, XU = 4 cm, are sides of the rectangle XYZU.

The area of parallelogram KLZU is
X K Y L

U Z
(A) 20 cm B) 10 sq.cm QO

(©) 20V2 cm (D) 20 sg.cm.
MG XYZUS! Y UZ = 591 7o XU = 49 §, .
W WHR 9gYS KLZU 89%d #

X K Y

U z
(A 209 (B) 109 |
(€ 20v23aHt (D) 2097 9 |

Hero's formula for the @ﬂangle with sides of lengths a, b, cand s _a+ 2ib +C ‘

is
(A} abe (B Vs(s-a)ls-b)(s-c)

bP(s~rc) (D) % x Base x Height.

_a+b+c

fardt By o %WWWa,b,cﬁ,ﬁﬂlﬁ%(Qﬁs—T)

B) +Vs(s-a)(s-b)l(s-c)

© —al(s-b)(s-¢) D) %xamnx%alén

The phical representation of data in which data is shown by rectangles drawn on
X-axis as base, which are of equal width and the space left between any two
rectangles is same, is called

{A) Histogram (B) Frequency polygon

(C) Bar graph (D} None of these.

AMHg *I T@Erasd g TR F &1 9% fafy food o 37 ol g weffa fvd s €
forehT auR X-o181 B, TS svR ster e & & < ofEdl & 9§ Siel T E 9
g, Feam §

@A) emEata ( fe=mmm ) (B) SRSl SgY

(© w9 Tw D) ¥ 3 A & |



D] 71 L-2
102. The values of marks H\H and u/./} are

A) 5,5 (B) 5, not defined
(@] not defined, 5 (D) 3, 3.

fagl H\H ikl u/ﬂ 1 AE &

@& 5,5 (B) 5, aftuifd =1 2
(C) suRviyg, 5 (D) 3, 3.

103. If the data to be represented graphically on Y-axis are in lacs as 1-

e '7 aI'ld 3'3
then which of the following is a suitable scale of choice for one uni

(A) Rs. 50 thousands (B) Rs. 30 thousag
(C) Rs. 40 thousands (D) Rs. 60 thouss
g Y- W THE €9 ¥ Wi 2 9 am stise @@ § 45, 77d1 3.3%, A
7T <h! weiifd A % foU Suge W19 ( e ) FH W I 2 .

(A) HBOEBIN To (B) 30 BV To (C) 40 To (D) 60 B9 To |

104. In the given circular graph, the decreasing order the” expenditure incurred on
various heads is

ood

Clothes

Savings

House Rent
ving®, Clothes, House rent, Food
(B) Food, Ho nt. Clothes, Savings, Education
t. Education, Clothes, Savings
ood, Education, Clothes, Savings.

et 9w NERE 7E W R 9 9o g, sEdE wE A

(a) foen, s=@, $98, T e, @ (B) @, " TR, 98, a=a, fen
(C) T, T T, e, 98, 9= (D) Wmmﬁlmm@aﬁa|

NIRRT [ PT.O.
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105. The lengths of 35 leaves of a plant are measured correct to one millimetre, and the
obtained data is represented in the following table :

Length ( in mm ) Number of leaves
127 - 135 5
136 - 144 9
145 - 153 12
154 - 162 5
163 - 171 4

1s it correct to conclude that maximum number of leaves are

(A) 153 mm long (B) 145 mm 1on£)0

[C) 149 mm long (D) none ofgthes
et 48 1 35 ufTdl & =R & AiFwe T et T w9 il 7 ¥ :
e (it d ) il i Y
127 - 135 5
136 - 144 %
145 - 153
154 - 162
163 - 171 @
F1 I8 Fe 99 ¢ o srfurivm:
(&) 153 furft w=ft B 145 firft =it
(© 149 it Tt (D) ¥ A FE T
106. The system affected by ase is
(A)  Digestive syst (B) Respiratory system
(C) Central nervou stem (D) Immune system.

T ¥
(B Y9 TA
(D)  WiaRer oA |

107. there is always an opposite and equal reaction.”
(B) Newton’s second law
(D) none of these.
“ye TR % wia faale wd u weE wiate g ® ) 56 w5 I Fed B
(&) A % uw fam B) =g i e frem
(€) =27 o T frm (D) T8 § FE T
108. The rate of doing work is known as
(&) Force B) Motion
(C) Power (D)  Energy.
FTE HH I L FEAM! T
I [ (B [
(C) ?Tﬁﬁ (D} m‘f |
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109. Which method of heat transmission does not require any medium ?
(A Radiation {B] Convection [C) Conduction (D) Diffusion.
T HO HT FA-6 fafy F meem w5 snavasa T e ® 2
(a) fafeom (B) Haed
(C) = (D) T
110. With the increase of pressure, the boiling point of water
(Al increases B) decreases
(C) remains unchanged (D) none of these.
T gig & WY g H FEeis O
() wem® (B) wed ¥
(C) eToftafda @ ® (D) ¥ &‘—iﬁg
111. Frequency of ultrasound is
(A) < 20Hz (B) Hz and < 20,000 Hz
(C) < 20 Hz and > 20,000 Hz 00 Hz.
LTSS FHI g el &

(A) < 20 Hz
(C} < 20 Hzd49 > 20,000 Hz
112. Pitch of sound depends on

(A) frequency

(C) velocity D)
T &1 A AW e &

@A) e W (B)
€ FIW (D)

The number of magne
(Al Magnetic tibn (B)

113.

20 Hz 991 < 20,000 Hz
> 20,000 Hz.

wavelength
Intensity.

Toes |
dem T |

lines of force passing through a given area is known as

Magnetic intensity

(C) Magn (D) Magnetic moment.
@& A Taha o [@Nsil 1 A Feand §
@A) (B) g diwa
( (D) =g I |
114. A bulP( 100 W, 200 V } is connected to a voltage of 160 V. The power dissipation is
A 64 W (B) 100 W (09} 32 W D 160 W,
W oo ( 100 W, 200 V) F TF 160 Vaieeal & Y Sigl 71 ¥ | vfw g g
(A) 64 W (B) 100 W (C) 32 W () 160 W,
115. One kilowatt-hour is unit of
(A) energy (B) power
(C) electric charge (D) electric current.
T fweae-ve fHas A & ?
(A St H B) e H
(C) HYd A=Y & D) dga R |

[ P.T.O.
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116. The gas responsible for global warming is

@A H, B cCo,
© NO, D) SO,
fava Fom & foau fomier i ¥

A H, B CO,
© NO, (D) SO,

117. The atomic number of a nucleus is equal to
(A) number of electrons + number of neutrons
(B} number of neutrons + number of protons
(C) number of protons
(D) number of neutrons.

T 1 T FHHH SEL T § &
(A) TRl @ WA + JIEA ot W
(B) =g Sl W& + W Sl §E

(C) W 1 9@
(D) =g &t HE& |

118. If acid burn occurs in the labora

(A) Wash with sodium g'solution and again with water

(B} Wash with 1% ace r lemon juice
(0)] Clean with si a

(D)  Put simple salt.

119. A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called

{A)  Aquarium (B) Museum

(C} Terrarium 19)] Forest.

8 WM Tl SIS =g I — 0k, TG, HYU AT IAH WG F ER I I €, IH FEa €
(&) S-S (B WUR™

€ fEm D) T

i
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120. Which of the following statements is not correct ?
A Aims are directives in the educational programmes
(B) Aims could not be achieved only by school programmes
(C} Objectives can achieve by school programmes
(D) Aims and objectives are same.

feaddsR-TTFE EEI TE € ?

A T Sy § Ry o Fdvm & $d @ €

(B) 9 faarerh ST g1 9% WIS gl T Hehd O
(©) W st faamert sdshy g1 wiw fFd < g

(D) S99 & 9T S WA E | ()

2
121.Thesirnplifiedforms01'222 ,(22)2zamd[f222 ¢
(A) 2 16’ 44, 162 (B) 44 8’ 2
€ 21528 82 2 44 916
2
w222 (22)2%qwm (227 ) @
(AJ 216'44, 162 44,28,82
(C) 216,28 82 162,44, 218,
122. The factors of expression [ x2-&xyf y ) - 22 are
A (x+y-z){x+y+z (B) (x-y-z)(x-y+2z)
€@ (x-y-z)(x+y+z O (x-y-z)({x-y-z)
Eﬁ'\?ﬁn"(xz—2xy+y2] g
A (x+y-z)l B (x-y-z)(x-y+z)

€) (x-y-2z)
123. If ax2+ bx+c=0

D) (x-y-z)}(x-y-z)
an identity in x, then

' -b
(B] C=0.X=O,X=T

(D) a=0,b=0,¢c=0,

-b
(B) c=0,x=0,x=7

C) ¢c=0,x=—, x== (D) a=0,b=0,c=0.

124. The numerator of a fraction is less by 2 than its denominator. 1f we subtract 2 from
the numerator and add 2 to the denominator, then the new fraction obtained is % .
What is the original fraction ?

AR ® 3 o 2 o s
P g foaem oiw, WA 2F0 ¢ 19 T Sim H @ 2wl fewr 9@ s s # 29 faar s
T T YR W = i %% 0 arfer i R

w2 ® 2 o 2 o i

9
LT [ PT.0.
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125. If we divide x% - y? by x -y, then the quotient and remainder are respectively

A x3+xZy+xy2+y3, 0 B) x3-x2y+xy2+y3, 0
) x3+y3, x2y+xy? D) x3-y3 x2Z2y-=xy?
e x4 -y F x-y® 9T T TR R A FwEw: T

A x3+x2y+xy?+y3, 0 B) x3-xZy+xy?+y3

€©) x3+y3 xZ2y+qy? D) x3-ys x2y-

126. Two cars X and Y are moving from a point A to the point B whic c¥©0 metres apart.

If the speed of X is 10 m/sec and that of Y is 25 m/sec the etime taken by them
to reach to the point B are respectively

a) 2 sec, b sec (B) 50 750¢sec
[C)] 5 sec, 2 sec ec.
3 fagsil Av BT o9 #1 gt 50 MR ¥, PHFR werdl 8 1 3fg X 10 H/&
T Y TG 25T/R 2, NI % 50 AW TE9 § A aTel 9GS TR
@& 2% 5% 00®, 7509
© 5% 29 A

127. Divide Rs. 13,260 between Sh¥am in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Shyam will get respectively
(A) Rs. 7,650, Rs. 5, Rs. 5,610, Rs. 7,650

(C) Rs. 5,100, Rs,

13,260 To &I TH
39 R & favreH &

Rs. 8,160, Rs, 5,100,

Wﬁﬂﬁaaﬁﬁwﬁmﬁ 11%0 fadd @ ¥am = 15 %o |
M ) w9 ol

A (Bl 5,610%0, 7,650%0

(C (D) 8,160 %o, 5,100%F0 |
128. Which owing is incorrect ?

(A) int of intersection of medians of a triangle is called centroid

point of intersection of perpendiculars drawn from the vertices of a triangle
n the opposite sides 1is called orthocentre

(C) All the three bisectors of angles of a triangle intersect at one point

(D) Median of a side of a triangle is perpendicular bisector of that side.

1 4 | F19- FF smE § ?

) el fye #t o @ sfrse o S Feam @

B) fFdt e ¥ v @ 9mm ol o W s T T # wiawy fag o e el ©
) foet = 4 991 S % snfgves & foag W firem €

(D) Todt oy & oo & TifgeRT, IW O W T gt € Ud I8 wuiganfom Wt ¥ o
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129. Which of the following is not the condition of congruency of two triangles ?

(A) The three sides of a triangle are equal to the three sides of the other triangle
respectively.

(B) Two sides and the angle included between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.

(C) Two angles and the side between them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly

(D) All the three angles of one triangle are equal to the three angles“ef other triangle.

= 4 A F9-7 wyA 9 e =) wEteTa F fau g w2

@A) TF e F A e s @iﬁgﬁaﬁ?ﬁ‘—l‘rweﬁ%

(B) @ﬁ%ﬁﬁawqaﬁ%aﬁamw,wﬁ aﬂ%aﬁa%w%ﬁ
ELIEL

C) TF BT F T F0 dAR TTF =T FH Y, TH aﬂt?«lﬂ?aﬁaﬁgm%
T B

(D) & @ & @ =0, T e & = E) o

130. if each angle of a quadrilateral is less th it is called
{A) concave convex
(C) parallelogram ) trapezium.
fEt T s w0 Afg 180, , = e ¥
(A) SR (B) EX)

(D) EFEgdd |

131. A triangle and a par ave the same base and the same area. If the sides of
the triangle are 2 and 30 cm and parallelogram stands on the base
28 cm, the height of arallelogram is

(€O AR

AR TArR =S 1 TR 28 H A e ¥, Fhmagﬁaaﬁﬁré

gt

(A) (B) 1694t © 1499 (D) 69 |
132. In g a book is a solid figure, known as

(B) cube

(C) rectangle (D) cuboid.

GIYROEEl T fohae U 39 aTRfq ® forge -

(@A) wARR =gy (B) =9

(C) 394 (D) oY |

133. Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side

5 cm will be required for it ?
@ 9 (B) 18 © 27 (D) 30.
U4 T 3 1 T Tear & ) oo 15 99t g | 39 fau 596 et 9t fRa s

gaﬁ?r T ATETIHA BOI 2
9 (B) 18 © 27 (D) 30.

(L T [ PT.O.
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134. The volume and curved surface area of a right circular cylinder are

(A} 2narh, nr2h B) =wr?h, 2rrh
(C) % nr2h, 2nrh (D) =wr?h, nrh.

T FHHIVIY JF AT H G0 @ T5h IS T 4AFA §

(A) 2nrh, nr2h B) nr?2h, 2nrh
© Larzh, 2nrh (D) nr2h, arh.

3
135. The value of n is given as follows :
3-14159265358979323846264307

The most and the least frequently occurring digi&m@ decimal point are
*

respectively
@ 3.7 (B) \
© 3.0 ( 1
nh AF A e gan #
3-14159265358979323846264
TEE F A% T g IR T FH &aﬁ % wow: §
@a 3,7 ) 7,3
) 3.0 (D)
136. In a typical plant cell the itio ucleus is
(A) Central (B) Peripheral
(C] Basal (D) anywhere,
W Y& 9Ted ShifeTehT =t feufy g #
B) R
(D) el st
137. ollowing cell organelles is known as powerhouse of the cell ?
(B) Nucleolus

(D) Mitochondria.

(C) Tiesil Fra (D) TR |
138. The longest stage of mitosis is

(A)  Prophase (B) Metaphase

(C) Anaphase (D)  Telophase.

Ut faure o gy ot weeen §

(A W (B) HerHd

(C) TATHS (D) ArES |
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139. Viral disease is
(Al  Polio (B} Plague
(C] Cholera (D) Typhoid.
qrERY A I
(a) dfea B =M
C) =i (D) TERES |
140. Which of the following deficiencies in food causes night-blindness 6 €
(A) Protein (B) Fats
(C) Vitamin A (D)  Vitamin C. Q
T e d § frast s g W S 2
(&)  WEH (B) & ¢
) faafma A (D) C.

141. Property of sublimation is found in
(A]  sodium chloride
(C) ammonium chloride
LAY HT IO A S §
(a) wifeaw wiREE
(C) IHifEe FaEs |

142. Heat required to increase i
(A) 1 calorie (B)
(C) 100 calorie (D)

caiCium chloride

agnesium chloride.

Hieam FeiEe |
Aritfye sess § |

B)
Q-
imsflemperature of one kilogram water is

10 calorie
1000 calorie.
T foRelIu™® 9l &1 TF Jfeagy a9 9gn F fod oTavEs oo gt ®
(A 1% * B)  10%ard
(@) D) 1000 S |
143. Image fo y a convex spherical lens is
A i i and erect (B) real and erect
( inary and inverted (D) real and inverted.
k&2 T gdu § whafas o @
(A) ST TS (B) Tl TE Hiwn
(C) 3vIEl W Se (D) =TEifoeh To et |
144. For an incident ray of light, if mirror is rotated by an angle 6, then reflected ray will

rotate by an angle

90° (D) 0°.

T& Adfoa g o & feag, afc 9o =t ¢ For § gA ik S« wafda fveor &1 gAE S

A o B) 26 (C)
EIR
@a o (B] 28 )

(L

90° (D} 0°.

[ P.T.O.
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145.

146.

147,

148.

149.

150.

80

A patient of hypermetropia is given spectacles of

(A) lens of zero capacity (B) compound lens
(C) convex lens (D) concave lens.
afe 3 % Wi T s e S

(&) Y &HA T B) fafsm o= =

(C) ST o H (D) T o F |
If E, be the peak e.m.f. of alternating current, then root mean squ e.
@w E, B) E N2

(@ E,/2 (D) / %
Wﬁmﬁﬁmmﬁ'@'{ﬁomoaoE %ﬁaﬁqu@&ao’
@w  VE,

C) E,/2

Detergent is a complex salt of

(A}  Sodium Calcium

(C) Carbon D) Magnesium.
HHTSIF Ffedt o &

() Eifemm 6 B) Sfewram =

(C] & (D)  HfeEm o
Device used to send ctures is

(A) teleprinter (B) telex

[C) | (D) none of these.
9w @ % fo ferg Sw=tor &1 SwEm fofan s § 7

(A) B) T

(©) (D) T & HE T

the following mixtures of gases are used for welding of metals ?

xygen + Hydrogen (B) Oxygen + Carbon dioxide
(C) Oxygen + Methane (D) Oxygen + Acetylene.
yrgel = afeen & fou f= & @ o6 i F fago & svEm fFm s g 2
(&) SATEESE + BEGNT (B) SFEH + FET SHATERS
() AredsH + fagm (D)  feisH + ufgfes |
Symbol of Tungsten element is
a W B T {C) Te (D) Tm.
A T H HHAER §
@A w B Tl (C} Te (D) Tm.

LT
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SECTION - IV (b) / @US - IV (b)

SOCIAL STUDIES / |THINGh AT

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions,

W@ﬂ@ﬁwsow%|ﬁ?awfﬁﬁwﬁwwwﬁm%ﬁwﬂmo T
91. Who was the ruler of Kota during 1857 mutiny ? Q
(A) Maharao Ram Singh I B M Rarft Singh 11
(C) Maharao Madho Singh I (D) aoc Ummed Singh I.
1857 %! SIf<1 & HHT HIT FI IMEH o1
&) TR W fEHe | ™ {8 11
() werE HH fHE I TERE sHg f6E 1
92. The famous Salim Singh Haveli is g§ituated
(A) Nawalgarh (B) Mukandgarh
(C} Pilani (D)  Jaisalmer.
wiag ifew fig st
@) e § B THITE H
(€ Toerrt | (D) SHARH |-

| 4
ogamedi fair held ?

93. In which distri
(B} Ganganagar
{D)  Churu.
g Aem e ® 2
(a) B) TR
(C) wFIATTE D)y =& |
94. The fort where British General Lord Lake attacked five times, but failed, is
(A) Lohagarh, Bharatpur (B) Bala Fort, Alwar
(C) Mandalgarh, Mandalgarh (D)  Achalgarh, Abu.
a% foern, T R 39 e 12 9% 3 999X TgR &1, T swa gon, ®
(A) TR, WA (B)  @en feem, steEr
(C) WiEag, RigwTg (D) ¥T9erTe, A9 |

LT [ PT.0.
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95.

96.

97.

98.
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The first President of Mewar Praja Mandal was
(A} Manikya Lal Verma (B) Balwant Singh Mehta

(C) Bhurelal Baya (D) Ramesh Chandra Vyas.

TETS WS AYSd & WgH 3neHe 8

(a) Wi o (B) rEq fdE fd
(©) e Fa (D)  Tw = =T | O
The main soyabean producing districts of Rajasthan are ()
{A) Ganganagar — Hanumangarh (B) K Baran
(C) Bundi — Tonk (D) Jaipur — Dausa.
TR | Wiy & JE I o €
(&) TR — A ) — ARl
© I —3IAF (D) AR —3r )
In which district of Rajasthanfis T n produced ?
(A) Bhilwara (B  Udaipur
(C) Nagaur @ (D)  Jaipur.
e & fae o QA B @ ?
(a)  sfiemars * (B) ITAW
(C) (D) AL |
arvesting is beneficial for

igation

(B) agriculture

(C) production of hydroelectricity

(D) improvement of underground water level.

o9l el HUEY AR R

() fee & fag B FF g

(€ v Taega SR « foe (D) fATa e W) gURA % A |

LD |
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99. In Rajasthan, cities located on National Highway No. 15 are
(a) Bikaner — Nagaur — Jodhpur — Pali
(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer — Udaipur — Dungarpur
(D) Jaipur — Tonk — Bundi — Kota.
o™ # T Teri- 15 W feom R §
(A) WHFR — AR — Y — et
(B) TR — SR — SEe — SIS O
(C) AR — AR — IER — FPRY
(D) AR — FF— & — Frer |

¢
100. The second highest peak of Aravali is &
(8) Jarga (B
(C) Taragarh ) & A arh.
W

It 1 gEa Iwaqn faraw #
(a) wan
(C) TR D} IEEE |
101. Which region of India is assogiat ancient Gondwana landmass ?
() Himalaya (B) Ganga Basin
(C) Thar Desert (D) Deccan Plateau.
YR &1 HH-H TS [ -9 | T 7 ?
(a) Tewre™ (B) W & AW
C) ®R . (D) e @ wReR )

102. In which est is Sundari tree found ?
(B) Temperate forest
(D) Mediterranean forest.
e ¥R & &1 § e S § 2
() EE am B i o
(C) wEEel = (D) YAEETRE 9 |
103. The cause of winter rainfall in Northern India is
(a) South Western Monsoon (B) Western Cyclonic disturbances
(C) Cold wave (D) all of these.
I R F v a9l ®1 SR R
(A)  <faroft afvest weEa B) ufrarht aswrarg fasiv
() ¥ = D} T

NI AR VIR | PT.O.
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104. Sindri is famous for the production of

(A)  Petro-chemical (B) Cotton textile
(C) Chemical fertilizer (D) Cement.
st foresh S & fag wfas ® 2
@)  E-wEA B) =
C TEEF IHH (D) ¥ |

105. On which river is Bhakra-Nangal Project located ?
(A)  Satlyj (B) Ganga

(C) Ravi (D) Vyas.
TG-S e 7 | fem § 2 O
(A) aderst B) T ()

© e D) =N .
106. The largest continent of the world is

(A)  Africa (B) erica
(C) Asia ( ctica.
gt &1 G TSI HEIE €

W Q,. ot arem
(© wiemn ) UUeThfe |

107. ‘U shaped valley is formed by @
(A) rivers 6 B) glaciers
@ (D)

underground water.

® femrt g7

(D)  sffTa ST g
108.
(B) Metamorphic
(D) All of these.

B) w U
(D) TTHAE |
109. The lowest layer of atmosphere is

(A) Stratosphere B) Troposphere
(C) Ozonosphere (D) Ionosphere.
TAvSH S ged el WA ¥
(A) FEAIHTER - B) &vHYEA
(C) ASFHYES (D)  SFTHUSS |
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110.

111.

112.

113.

114.

85 L-2
The sea having maximum salinity in the world is
(A) Red Sea (B) Arabian Sea
(C) Dead Sea (D) Baltic Sea.
faver # waifus oo amen 9K ?
(A) T 9R (B) T 9R
() ¥d ¥R (D) «fees WK |
The number of Lok Sabha members elected from Rajasthan is
@ 21 (B) 26
© 30 D) 25. O
T § SAreRaw % ferg faifan wewil =t @ §
) 21 (B) 26 ()
© 30 (D 25& ¢
The President of India is elected by
() the people of India
'(B) elected members of both the hou f liament and State Legislative
" Assemblies
(C) the Prime Minister and Counci %s
(D) all the Chief Ministers.
WA 1 AP A1 S @

E:

(A) YA & AR g/
B) W%ﬁmﬁ@%ﬂwm%ﬁaﬁamm

(B) The Chief Justice
(D) The Prime Minister.

(B) & M
(D)  WUEEA |
The Chief Justice of the Supreme Court of India is appointed by
(A) the Vice-President (B) the President
(C) the Prime Minister (D) the President and Prime Minister.
IRa § et = % T e st e s
(W  S9-Tguf B) Tgufa :
© U (D) TEuf T g

N [ PTO.
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115. Who is the Speaker of Rajya Sabha ?
(A) The Vice-President
(B) The Leader of opposition
(C) The Home Minister

(D) The person elected by the members of Rajya Sabha.
TIHAT 1 U D ST 8 ?

@& 39-ugufd B) fauw = F@
© TEHA (D) THEH & FEEl g |
116. The Constitution of India was adopted on
A) 15th August, 1947 (B) 26th January, 1
(G 26th January, 1949 (D) 26th duly, 1 .
IRt dfaum ary foean man & ¢
&) 153, 1947 (B) 6 , 1950 %!
(© 26 all, 1949 ( , 1950 &1 |
117. How many fundamental duties have b ntibned in the Constitution of India
Part 4, Article 51-A ? < %
A 10 ) 12
) 15 (D) 11.
IRdr SfaYM vT- 4, 93] 51- [ % forem o1 e aftfa € 2
@ 10 (B) 12
) 15 (D) 11.
118. When was the first f Constituent Assembly held ?
(A 19‘1 (B) 26th November, 1949
©) 1946 (D)  26th January, 1930.
dfaum Yol Soeh el AEISd 1 T8 ot ?
A B) 26 79%=R, 1949
( (D) 26 SR, 1930.
119. In Constitution of India the number of Fundamental rights after 44th Amendment
is
A 6 (B) 7
c 8 (D) 5.
IR Wiaum & 44 o GoeE F wwEr o AfUER w §en ¥
A 6 (B) 7
) 8 D) 5.
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120.

121.

122.

123.

124.

Which is not a characteristic of the Constitution of India ?
(A) Democratic system
(B) Fundamental rights and duties
(@] Employment guarantee to every citizen
(D) Independent judiciary.
IR WU ) - kv 7w § 2
(&) YIS g
(B) T AHER T FA
(C) V& AN ! USHIR i GIA O
(D) T AN | &
Who was the leader of First War of Independence ( 185 r?
(A) Tantya Tope ¢
(C) Nana Sahib ar Singh.
IRA ¥ WU @A GO (1857 ) F AR § a1 ?
@A) e Ay
(C) A s
Who is the author of ‘Majha Prava n'during 1857 ?
(A) Vishnubhatt Godse (B) Sitaram Pandey
(C) Narget (D) Mangal Pandey.
1857 & <A fafea g EF §
@ foeg e (B) HHNmE e
0 TR (D) W UVRT |
Who has given tleyof ‘Rani’ to Gindalau, the great Naga female leader ?
agore B) Mahatma Gandhi
(@) ehru (D). Subhash Chandra Bose.
e Teey T Y Iy fRe & oft 2
(B)  WETCHl TiER
(®) (D) QU IK 4 |
In which language has Mahatma Gandhi written his autobiography ?
(A) Hindi (B) Marathi
(@) Gujarati (D)  English.
TETCHT TERt 3 orurt AeHeRen fFg v F ferat 2
@ fe=<a B) W&t
(C) TR (D) &S |

L [ PT.O.
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125. In which year did British Parliament pass a law through which has taken overall the
rights from East India Company ?

() 1858 (B) 1859
(C©) 1860 (D)  1861.
fofen dog 7 frw ad S w9 = §= ifea 9 & 9R ifusr o9 el 2
(&) 1858 B) 1859
(C) 1860 (D) 1861.

126. The meaning of the word ‘Dastak’ is

(A)  Slavery (B) Factory 0

(C) Port (D) Duty-free trade.
‘T IR | A ® 2 .
@ e (B)
(C) =<TmE (D) |
127. Who was the ruler of Chittorgarh during the@nvaSion{ 1567-68 ) of Akbar ?
(A) Maharana Pratap aharana Udai Singh
(C) Jaimal D) Maharana Amar Singh.
e & TemiigTe W mRAw ( 15 TeT 1 I HIF o1 ?
(&) TERMN ¥ (B) HeWn 3e7 fHE
C) <A (D) e 7R &% |

128. Which of the followi
Hindi literature ?

(A)  Aurangze (B) Akbar

(D) Shah Jahan.
g g % el o Tt wifeca 1 Tl o 71 S ¥ ?
(B) FF

(D) MEE! |

129. The French traveller who visited India for six times was

emperor’s reign was known as the golden period of

A Menucci (B) Bernier
(C} Thavenot (D)  Tavernier.
FH-| R 96 7 B8 9 WRA &) a4 Y ?

@ = B Ffm

C) g=ArE (D) TR |

HRI



o] 89 L-2

130. How many ranks of Mansabdars have been mentioned by Abul Fazl in his

Ain-e-Akbari ?

@a 22 (B) 33

) 44 (D) 66.
HEA-T-IHA | 3GA Hoel 7 AHagR] 1 fhart Sl &1 Seore fdan § 2
@A 22 B) 33

© 44 (D) 66.

131. The tomb of Sheikh Salim Chisti is located at

(A)  Agra (B) Delhi
(C) Fatehpur Sikri ' (D) Ajmer. ()O

3@ e Toedt =1 qhaq wal feom § 2

@ s H (B) .
(C) WasR Hwdt | (D)
132. The author of ‘Nuh-i-Sipihar’ is
(A) Amir Khusrau Mohd. Jaisee
(C) Dara Shikoh eikh Nizamuddin Auliya.
‘¢ fafeey’ & =R ¥
@ R gEd @ ) wfeew Hewe S
© =x frEe (D) g FremgE sitfemn |
133. The chief centre of Chisti Sch@ th India was
(A)  Gulbarga (B) Golkonda
(C) Bijapur (D) Bidar.
Zfyoft wra ¥ fawedt FE ol
@ T B) TEFS
€ STy 3 (D) e |
134. The place t Dadu died is
B) Amber
(D) Pushkar.
Ll T e o W g3 ?
B) &=
(C) ¥R (D) Y=Y )
135. Where Saint Jambhoji was born ?
(A)  Pipasar (B)  Gagron
(C) Jaitaran (D) Nagaur.
T SISt I FE g 41 ?
&) R (B A
€) AR (D) AR |

L0 ([ PT.O.



L-2

136.

137.

138.

90 [D]

The famous trade centre of Far West during the Gupta period was

(A)  Vidisa (B) Purushpur

(C) Ahichhatra (D)  Paithan.

W e § ggX uived | yfag =i s o

) fafem (B) IRUR

€ fess= O %3

The National emblem of India has been taken from

(A) the pillar of Sanchi (B) the pillar of S
(C) the pillar of Allahabad (D) the pillar of
Ra 1 U fag foan mr ¥

(@A) w=w™ R (B) Y e

(C) sEERE &Y | (D) i
‘People did not lock their houses.’ @

About which ruler has Fa-hien written this?2
(A) Ramgupta Chandragupta I
(C) Chandragupta Vikramadity )  Samudragupta.

e R dren T e 9
wreaH A foe wesw & am A ,
(A) THTH (B) =TI
€ == (D) 9EST |
The famous temples offMahabalipuram were built during the reign of

139.

140.

* (B) Cholas
(D) Kakatiyas.
ey fFd 3MEF & e o =i o 2
B =
(D) SHIHAA |

For the first time, in which period of Indian History was the registration of birth and
death of people introduced ?

A Pallavas
() Chal

(A) The Age of Mahajanapadas B) The Gupta period

(C) The Kushan period (D) The Mauryan period.
R 3fae # vgell 9 &Rl % 51 T o o st TR e # o T 2
(A) HENHYS Hd (B) TH

(C) I HA (D) W w |
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141. Which Harappan building was considered unique in its built in the world by Sir John

- Marshall ?

() The Great Bath (B) Granary

(C) Assembly Hall ' (D) Fort Palace.

Tohd TSHIFT TARG &1 W 9 AT 7 fova &1 T sigya fmio wa1 ?

(a) I8 EHArR (B) S E NI

(C) | wEA (D) ¥ #8a | |
142. "In India there is unity in diversity and diversity in unity.” Whose ertt is this ?

(A) A. L. Basham (B) V. A. Smith

(C) Max Muller D) Jaw lal Q

‘R H Twal H sl IR SThaT § TohaT § 1 98 FuA 2 ¢

A)  To THAo TRH FI o Ty =

) Bag TR E AEE H |
143. From which Indus site the evidence of *

() Harappa Mohenjodaro

(C) Lothal Kalibanga.

1 # 9 form Sve W @ ' aaf= LS| % ?

@A) TEgw

(C) < (D) |
144. What is the main so formation about Indo-Greek rulers ?

A) coyn (B)  Coins

ture (D) Jain literature.
IR A WFHR 1 JeA &d T ® ?

1\ B fa=n
( D) S wfed |
145. Geeta is
{A) Veda (B) Independent Epic
(C) a part of Ramayana (D) a part of Mahabharata.
T &
A 3T (B) &d HEHA
(C) T F TE W (D) TETMRE 1 TH WA |

LI | [ PT.O.
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146. The main characteristic of the Indian society is

(A}  unity in diversity (B) illiteracy

(C) self-sufficiency (D) regionalism.
YRAE §9 St T fawar ®

(&) 3w H Tl B)  fwiam

C) e D) wRfREsa |

147. Urbanization is the result of

(A)  educational development

(B) rural development O
(C) migration of population from villages to cities ()
(D) agricultural development.
TR R # ¢
() e forwm w (B) 1
(C) UM § TR hl SN FAHEA AR H 7 1
148. Regionalism is the main cause of
(A) poverty social tensions
(C) unemployment ) globalisation.
SEIRCICI Rt AC U
() TR B) wmifw TE H
(C) SR &1 (D) ST 1 |
149. Apart from subject social study teacher should have knowledge of
| (A) objectives of t in | (B) methods of teaching
(C) techniques‘ef teg ng (D)  all of these.

! fava-ag & Wy-9Y 96 € 9Ifey
B) T fafai

D) THIFA |
150. not a cause of poverty in India ?
(B) Rapid growth of population
(C) Education (D) Large size of family.
WRd # TIs % AU SE-| R AET R 2
@) SR (B) e sEEn gfs
© faen (D) &4 9fER |







/\9"@
&
&

9
&

&



&

i



L2

96 [D]

INSTRUCTIONS
( Read carefully and comply / Wﬁ(mw e Eb'\!‘)
IMPORTANT /

In Sectlon II (Lan, 8uage I} a_candidate has to attempt the questions of the language which the candidate has selected as
age I in the nline Application Form.

@vsn SIS 1) H 3G AT S A Hger FAT S & R Ao w3 9T [ % w9 F e smae-un § Rear 3

{‘l;nSectlonHIII (tlhan ailge R a1 ca{xdld%te ha% to I_:ittempt tIl'Ile g}lugztaort_}s of t}le lanLEuage which the candidate has selected as
guage Il in the me pplication Form. The Language Il wi ifferent rom nguage

UL 11| § T T F W Bl gl HCN A & [ T BT 94 e A o 1 % w9 A ﬂéﬂ-ﬂ'ﬂ'ﬁﬁﬁm%IWlWll'@ﬁﬂﬁfﬁl

The candidate mqst ensure that the Question Booklet No. has been filled correctly at the prescnbed places in the OMR Answer Sheet.

et OMR ¥iE & W WA FHIE Tl W

The candidate has to answer of that subject in Section (IVa) Mathematlcs and Science or (IVb} Social Studies as selected by the

candidate in the Online Application Form.

If a candidate answers the questions of the lan dgua\ge or subject other than selected in the Online Application Form, the

candidate shall be personally responsible for it and it would be treated as wron,

z aﬁwmﬁgm%{wanﬁmqafaﬂnm(wmmﬁﬁm aﬁéﬂnﬁaMﬁmmi

u&a‘mﬁ A e U H wafg o 41 fang & Wl T T FE o= 9 1 o e & v

! Tl SER g qun e R S

10.

11.

12,

13.

14.

Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer
Question Booklet. If you fail to fill the details and sign as instructed correctly, you wi
consequences arising during scanmng of your Answer Sheet. . .
1 ¥ 6 7% OMR T T3 FHi® 1§ 4 7% w W) Ay o e a0E /
7 EEIER %?ﬁounvﬁzﬁﬁ?ﬁﬂ%ww It uRumt % v i = d |
OMR Sheet No. should be written in the space provided in the Question Bookle TS
OMR ¥ W& W YR § & it Fifte @m R o st el |
The Question Booklet comprises 96 pages having 150 questions. After being i
will open the Question Booklet seals, Check whether the Booklet contains 1 from Page No. 3 to 92
Brot ¥ 96 TS W 150 W &) Wl FEw R W % swr @ @ﬁ%lﬂ% ¥ o 5w g §
150 WA € it 5 U W@ 3 § W g 02 A ¥
All questions are of MCQ (Multiple Choice Questions) type. i correct answer to each question carrying one
mark. There will be no negative mar for wro lnsweu
W TEREEE ER & T} TEE § 0 it
All questions other than language nestions of Sectlo N be bilingual.
W U & WINT WA WUE 0 U9 I & WAL & Jferi 3
In any event of any mistake in any question/s, cangi
1%1.‘_.|qe,\rstxon/s during the examination, . N - .
o el ¢ o ford, T ) Pl R o g e = avafy o e o Rt SR o e A e
Rough work, if any, may be done in the Question,Book in i i
from the Question Booklet, No additional papg
o8l WPR * T® S ¥ W YR F a5 W '
Use of Log tables, Calculator, Slide rule Mot Pager, Digital diary or any other electronic item/instrument etc. is not

TR 41 w3 PR W SRl SUROT / O] @1 WA &t &1 F

Sl. No. 1 to 4 in the
ally responsible for the

n the Booklet, only then the candidates

OMR ¥ite, U¥ ﬁs Y
The Questxon oklet will b
Sheet, The Question Booklet
question is not missing / not pi
inform the lnwgllator and,get it

:45 P M. and the candidate must fill all entries in Question Booklet and OMR Answer
shallPbe opened at 2:00 P.M. After opening the Question Booklet, ensure that any page/
ed / torn l/ repeated. In case, g'ou find any defect anywhere in the Questxon Booklet, immediately
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